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> power.anova.test (groups=4, between.var=3, within.var=l,
+ power=.80)

Balanced one-way analysis of variance power calculation

groups = 4
n = 2.439077
between.var = 3
within.var = 1
sig.level = 0.05
power = 0.8

NOTE: n is number in each group
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i A siE B
BERAEEX |[ARBE ) BRERE ) [ EREE ()
2 3.9 2 3.9
4 4.1 4 4.1
6 4.2 6 4.4
8 43 8 4.6
10 4.5 10 4.8
12 4.7 12 5.0
14 4.8 14 5.1
16 5.0 16 54
18 3 18 : 5.6
20 5.3 20 5.7
Tx = 110, Zx* = 1540, zx = 110, Zx* = 1540,
Ty =45.9, Ty’ =212.63, Ty = 48.6, Ty* = 239.6,
Zxy =530.2 Txy = 568
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4870 (Total) 120
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(b) HAMEFARE00SZTF » A Hyt py = Uy = fe 3 MR EZ p-value g1k 0.05 R (54)
(Foos202 =389 Fyossp = 3.49; Fooaspnn = 5:10; Ft').ozs,z,lz =4.47)
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(Zg_os.i =3.84, Z;OIS,I =5.02, Xéos.z =5.99, Zg'.bzs,z =7.37)
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